Section A
Answer the following question.
This question is about steps taken in the 1940s to agree the future of the subcontinent.

1 Study the sources (Insert) carefully and then answer the questions which follow.
(a) According to Source A, what examples of ‘enormous progress’ (line 1) had the Muslim League
made? [3]
(b) What can we learn from Source B about the tensions that existed over the future of the
subcontinent? [5]
(c) Explain why the Cripps Mission had limited success in 1942. [7]
(d) ‘Disagreement over the future role of central government in the subcontinent was the main
reason for the breakdown of the Gandhi–Jinnah talks in 1944.’ How far do you agree with this
statement? Explain your answer. [10]
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Section B
Answer any two questions from this Section.
2 (a) What happened at Cawnpore in 1857? [4]
 (b) Explain the appeal of India to the East India Company during the early seventeenth century. [7]
 (c) Did Shah Waliullah contribute more to the spread of Islam than anyone else in the subcontinent before 1850? Explain your answer. [14]

3 (a) Describe the ‘Hindi–Urdu Controversy’. [4]
(b ) Explain the impact of Aurangzeb’s domestic policies on the stability of the Mughal Empire. [7]
(c) ‘The main reason the War of Independence ended was because it was not supported by all
Indian rulers.’ How far do you agree with this statement? Explain your answer. [14]

4 (a) Describe the purpose of the Mohammedan Anglo-Oriental College. [4]
(b) Explain why Muhammad Ali Jinnah produced his 14 Points in 1929. [7]
(c) To what extent was the need for a political party to represent the Muslim community the main
reason for the establishment of the All-India Muslim League in 1906? Explain your answer. [14]

5 (a) Describe the achievements of Benazir Bhutto’s foreign policy between 1988 and 1990. [4]
(b) Explain the benefits to Pakistan of being a member of the United Nations. [7]
To what extent were economic factors the main cause of increased tension between East and
West Pakistan by 1971? Explain your answer. [14]
